


(d) A single input NAND gate is equivalent to (e W signed binary numbers MSB is the sign
a ——— gate. it.

(e) A flip-flop can store a ——— bit. ®» A latch is constructed using two cross-
. - coupled AND or NOR gates.

(f) The outputs of a binary adder are SUM and ; .
LR _ (g) J-K flip-flop is called universal flip-flop.

Amv A Q—Ww—ﬁh counter —m used HQ. ol A—.—v A Full adder can be Eﬂmﬁagﬂ& with half
: adders and NOT gate.
(h) ———— is a read / write semiconductor o T v
memory. A by //@ Each combination of the variables in a 5&._
. 7R .».. table is called Minterm.
(i) NAND and ——— gates are often Rwon.oma \\ \
to a universal gate. &v In R-2R ladder DAC four Eﬁﬁ resistor

X b W 7 values are required.
() The flip-flop is the gga:ﬁ- block om

_om.o circuits. ' EIRA ,% w Specify the correct answer : 1x5=5
Pt BRI LR 10 “ (a) Minimum number of flip-flops needed to
[ _ : construct a BCD decade counter is
(a) An encoder converts decimal numbers to | i
binary and other codes. i 4 (ii) 3
- (b). A logic circuit with four inputs can have 8 (iii) 10 @iv) 5
possible input combinations.
. s : (b) The maximum number of variables that can
- (¢) Another name for digital circuits is logic be used in the minimization of K-map.
circuits.
. : i) 4 . (i) 6
(d) A NOR gate is equivalent to bubbled AND © : i
gate. (iii) 8 ; (iv) 10
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(c) A data selector is also called a
(i) Demultiplexer (ii) Multiplexer

(i) Decoder (iv) Encoder

(d) If A is a logic variable, then according to
Boolean algebra

G 1.A=1
(i) A.A = A+A
Gii) A+ A =1
ivVA+ A =0

(¢) “The output is ‘0” for like inputs and ‘I’ for

unlike inputs.” This statement is representa-
tive of which 2 input logic gate ?

(i) NAND (i) EX-NOR
(ifi) EX-OR (iv) OR.
PART — B
Marks — 45
4. .Oo:ﬁﬁ the following :
(a) 0.6875 decimal to binary 2
(b) 10101 binary to decimal 2
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(c) (206.104), to decimal : 2
(d) 21A hexadecimal to binary 2
(e) 101011 binary to octal. 1

5. (a) Subtract 10110 from 11001 using 1’s

complement. 2

Subtract 11001 from 11011 using 2’s
complement. 2

Multiply (101.01), x (10),. i)
Divide (1110101), by (1001),. 2

(¢) Convert (126) , to excess -3 code. 1

6. (a) Prove the following using Boolean algebra :

(i) A + BC = (A+B) (A+C) §. 1
@A+ AB=A+B i

(b) Implement OR and NOT function using

_ NAND gates only. ! 3

(c) mn:o_ De Zonmmn,m theorem. 2
::mﬁ.%uim : ) [Turn over






